Lattice Multiplication

Use lattice multiplication to find each product.

2 6 2 5 9 2 7 3 7
6
9
3
9
3
26259 x 69393 = 27376 x 72000 =
3.9 0 9 2 1 1 9 3
7
6
5
2
2
39092 x 76522 = 11931 x 27878 =
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Lattice Multiplication Answers

Use lattice multiplication to find each product.

2 6 2 5 9 2 7 3 7 6

1 3 1 3 5 6 1 4 2 4 4 7
1 2 6 2 0 4 1 4 9 1 9 2

1 5 1 4 8 9 0 1 0 1 1 )
8 8 4 8 5 1 9 4 4 6 4 2

0 1 0 1 2 3 0 0 0 0 0 0
2 6 8 6 5 7 7 0 0 0 0 0

1 5 1 4 8 9 0 0 0 0 0 0
2 8 4 8 5 1 1 0 0 0 0 0

0 1 0 1 2 3 0 0 0 0 0 0
1 6 8 6 5 7 0 0 0 0 0 0

9 0 7 8 7 7 2 0 0 0

26259 x 69393 = 1,822,190,787 27376 x 72000 = 1,971.072,000
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o 8, 4,/ 0,/ 4/ 2 K] V| VA A \ V.

L4 A0 A4 AT ] s 0 10 A7 12 10 ] ¢
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0o 1T 0 1 0, 0 10 A7 12 /10 ] 4
3,/ 6 8,/ 0 8,/ 4 o, 8,/ 8, 2/ 4,/ 8

9 8 0 2 4 r 2 4 1 38

39092 x 76522 = 2,991,398, 024 11931 x 27878 = 332,612,418
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